AR B 1T = T 1 &
8| ® 4 ¥ % 1T BB | BPe
e A .
2 | H X
3|7 A i3 o01s 30
4| X A i3 o018 30
5 | &k || mER-FHE gt | A |REER
6 | & ||r2t] X
[ (G2 3EENTAN 1EFEIOTSL | - (FR) EREISTHHES | At
T = [  ARFEBRBER | A {14:20~14:50
8 | £ X
9 | H X
10 | B | FAD23EBEFERNTAL (FR)2-3FRE1FFETOYSLT | | O é%i?%
1] % O
12 | %k || *OQQR® REDY | O
13| & —ABA% - USTRER | ®
14| & —AZA% - ANRHRRX | O
15| = X
16 | H X
17| A || mEzEesy | BIEPTAFMAS | O g St
18 | X O
19 | % O
20 | & O 1EERLE | O
21 | & WEL N UBE (1 BI85~ | O
22 | + B AGGE-R-%E PTARS | A %a%@%go
23 | H X
24 | A O
25 | &k |, Oy
26 | K @%ftis | O
2] | K O
28 | & O
29 | £ |®WfoH X
30 | H X

O:®&*EAV A:BEEOH X :IKGEH




